5. AR %ﬁiﬁﬁa{{

(HEAT: 1)
- i TR0 | aRIEE | e | amEE | SR
K & 14 % 5 3 1 0 0
oOE M K% 1,327 1,317 1,304 1, 307 1,269
& it 1,332 1,320 1,305 1,307 1,269
5—2. & B I
(1) ERDER
%45 TR SERRSOMERE | SRR | SRIMERE | PRIEE | SR4EE
& B ¢ 300mm LA T (m) 29, 096 28, 455 28, 770 26, 111 29, 642
% % ¢ 350mm Pl - (m) 9, 606 11, 259 6, 853 7,501 8, 046
Jid fF H (f& 7T 95 160 199 159 150
SO S (77) 62 162 119 44 58
55} K * ER (f& ) 184 3,907 3,848 4, 255 921
5 7K 3 7 (& FT) 95 250 226 165 170
L w A ¥ 2 + & (m®) 201.0 172.0 205. 0 200.0 268. 0
(2) BB DISHER R
OHEFFEHE
X4y TR SERRSOMERE | SRR | SRI2MEREE | PRIBEE | SRR
< vE-VEREE T (&7 263 388 256 295 205
A EHE B R E R L (f& AT 5 3 4 2 4
15 K BT BB R L (f&7T) 57 56 57 65 48
MoKk A BB R T (&) 28 34 24 13 15
7wk £ 3 &L (F&7T) 87 134 125 95 63
oK F 9 B B L (%) 25 69 85 42 36
ORLIE-HEIE
< P CPRSOEE | DRUEE | SRR | BRSEE | DR
w X xr B A L (m) 430.0 - - - -
B A+ % B OB L (f& ) 228 179 234 222 168
T VR -V E BT (k1) 166 126 128 205 189
e #H4e Y R E L (K) 94 71 163 82 166
A > N — b L (& FT) 5 3 16 12 14
A o B OB Ok % (f& P 26 - - - -
(3) BERODBFELAETKR
X4y TR SERRSOMEEE | SRR | AF2MEEE | ARMEE | SmnadE
BNTLEDAZSE (m) 1,971 1,239 1,367 863 1,993
(4) ITEEHEEX
O TR SERRSOMERE | SRR | SRIMERE | PRIBEE | SRR
WAL e d AT WA (G 2,459 2,405 2,331 1,337 0
Jid 1 = Ed B (&P 381 354 348 343 358




(8) RMIR R DAVEHEIZA NP EBRBEER VR ERHF

OEWAE
%43 R w0 | AfonEE | AfEE | Amsek | Amam
vVR= VNG h AT A (m) 112, 840 78, 806 - 61, 423 -
BNTLE AT (m) 18, 566 22, 830 44, 471 23, 440 23,079
OWEERIHE
%43 R w0 | AfonEE | AREE | AmseE | Amam
BEHAET(HENY-BHE) (m) 989. 6 2,016. 8 540. 9 1,328.1 2,081.7
B El (m) 314.0 145. 1 180. 8 107. 4 72.5
BWE L QEHEE) (m) 1, 005. 3 2,100. 1 696. 3 697. 0 175. 2
FON om M & L (& 7T) 156 55 172 115 159
W A % B B T (f&7T) 650 460 609 714 482
TUR -V ERE T (k) 249 208 168 141 126
2 aew it B T &N 805 932 783 1,107 898
A4 v N — s fE L (f&7T) 141 57 88 40 64
2 v E = VN O E (&7 156 139 101 143 117
5—3. 8§
(1) Hek Bk (LT - )
X4y FIE SERk304EE | ARocERE | SRMERE | BFMEE | AfagE
SEURE 3 84 38 58 61 45
B 19 18 15 11 6
TRK - Bavs 54 50 28 26 26
= 1 2 1 1 3
Z D 12 20 18 17 9
=1 it 170 128 120 116 89




